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7| 1,383,000 1,384,000 A 1,000
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2 8,223,852 8,005,176 218,676
~EHSH 9,989,352 9,774,076 215,276
=2 366,000 366,000 0
J| 1,383,000 1,384,000 A 1,000
[=4 18,900 18,900 0
2 8,221,452 8,005,176 216,276
St A2l (Gt EE3 H) 9,989,352 9,774,076 215,276
=2 366,000 366,000 0
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2 8,221,452 8,005,176 216,276
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401 Al&HI 2L 200 818,290 820,000 A1,710
01 Al&H| 818,290 820,000 A1,710
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68,290,000 14l 68,290 70,000 A1,710
BHIZANE2Y XK (Gt==Hel &) (2l) 437,911 497,000 59,089
201 L2 2,400 3,000 A 600
01 At 22l H 2,400 3,000 A 600
OZZotaHMelAld 2922 2,400 3,000 A 600
401 AlIEHIZ =20 235,511 244,000 A 8,489
01 Al&HI 235,511 244,000 A 8,489
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HIEQAMLAML (2SR A L 22])(2Hl) 2,540 2,800 A 260
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